
Scientific Notation (J)Convert each number from scientific notation to an ordinary number.
6.1 × 10⁻⁴ = 3.959 × 10⁻⁴ =

9.856 × 10⁻⁷ = 7.23 × 10⁻⁵ =
5.75 × 10⁻⁵ = 3.482 × 10⁻⁶ =
4.57 × 10⁻⁶ = 3.296 × 10⁻⁸ =

4.337 × 10⁻⁸ = 1.17 × 10⁻⁴ =
7.56 × 10⁻⁸ = 1.3 × 10⁻⁵ =
8.13 × 10⁻³ = 6.03 × 10⁻⁵ =
8.3 × 10⁻⁴ = 8.2 × 10⁻⁶ =

9.29 × 10⁻⁴ = 8.28 × 10⁻³ =
6.3 × 10⁻⁴ = 1.21 × 10⁻³ =
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Scientific Notation (J) AnswersConvert each number from scientific notation to an ordinary number.
6.1 × 10⁻⁴ = 0.00061 3.959 × 10⁻⁴ = 0.0003959

9.856 × 10⁻⁷ = 0.0000009856 7.23 × 10⁻⁵ = 0.0000723
5.75 × 10⁻⁵ = 0.0000575 3.482 × 10⁻⁶ = 0.000003482
4.57 × 10⁻⁶ = 0.00000457 3.296 × 10⁻⁸ = 0.00000003296

4.337 × 10⁻⁸ = 0.00000004337 1.17 × 10⁻⁴ = 0.000117
7.56 × 10⁻⁸ = 0.0000000756 1.3 × 10⁻⁵ = 0.000013
8.13 × 10⁻³ = 0.00813 6.03 × 10⁻⁵ = 0.0000603
8.3 × 10⁻⁴ = 0.00083 8.2 × 10⁻⁶ = 0.0000082

9.29 × 10⁻⁴ = 0.000929 8.28 × 10⁻³ = 0.00828
6.3 × 10⁻⁴ = 0.00063 1.21 × 10⁻³ = 0.00121
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